Section	Description	NRC licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours	
Uranium Recovery Active Program							
40.9(b)	Notification to the Commission of information with significant implication for public health and safety or common defense and security	1	1	1	1	1	
40.14	Exemption request	0	1	0	1	0	
40.26(c)(2)	Notification of of any failure in a tailings or waste retention system	0	1	0	2	0	
40.41(f)	Notification of a voluntary or involuntary petition for bankruptcy	0	1	0	1	0	
40.42(d)	Notification of ceasing activities due to expiration of license or not conducting activities for 24 months	1	1	1	8	8	
40.42(f)	Request to delay or postpone decommissioning process	1	1	1	40	40	
40.42(g)(2)	Request for alternate schedule for decomissioning	1	3	3	40	120	
40.42(j)(2)	Radiation survey	0		0			
40.46(b)	Application for transfer of license	1	1	1	0.5	0.5	
40.60(a)	Report within 4 hours the discovery of an event that prevents immediate protective actions necessary to avoid exposures to radiation or radioactive materials that could exceed regulatory limits	0	1	0	4	0	
40.60(b)	Notification within 24 hours of unplanned contamination event, equipment failure, the discovery of an event that prevents immediate protective actions necessary to avoid exposures to radiation or radioactive materials that could exceed regulatory limits, or unplanned fire or explosion	0	1	0	4	0	
40.60(c)(2)	Event notification by telephone	0	1	0	4	0	
40.65	Effluent monitoring reports	1	2	2	15	30	
Appendix A and 40.31(h)	Submittal by mill operators of definitive programs meeting specified criteria in five major categories	0	1	0	890	0	
Criterion 5A(3)	Exemption request for placing a liner to prevent migration of wastes	0	1	0	10	0	
Criterion 5D	Submittal of proposed corrective action program and supporting rationale for exceeding ground water protection standards under Criterion 5b(1)	1	2	2	8	16	
Criterion 5G [includes 40.26(d)]	Information in support of applicant's tailings disposal system	0	1	0	20	0	
Criterion 5H	Steps taken during stockpiling of ore to minimize penetration of radionuclides into underlying soils	0	1	0	1	0	
Criterion 6(4)	90-day report of verification of effectiveness of final radon barrier over uranium mill tailings in controlling radon emissions	0	1	0	5	0	
Criterion 6A	Reclamation plan for impoundments containing uranium byproduct materials	0	1	0	20	0	
Criterion 8	Notification of cessations, corrective actions, and restarts of yellowcake stack emission control equipment operation	0	1	0	10	0	
Criterion 8A	Records of daily inspections of tailings or waste retention systems	0	1	0	5	0	
Criterion 9(b)	Financial assurance arrangements for decontamination and decommissioning	1	3	3	20	60	

Section	Description	NRC licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
Criterion 12	90-day report of results of annual inspections of all sites under licensee's jurisdiction	1	1	1	20	20
Subtotal		1		15		295.5
	Uranium Recover	ry Decommissio	ning Program			
40.9(b)	Notification to the Commission of information with significant implication for public health and safety or common defense and security	2	1	2	1	2
40.14	Exemption request	2	1	2	1	2
40.25(d)(4)	30-day report of transfer of depleted uranium under 40.25	0	1	0	1	0
40.27(c)(3)	Changes to Long-Term Surveillance Plan (LTSP) by GLs for custody of long-term care of a residual radioactive material disposal site	2	1	2	8	16
40.27(c)(5)	Significant construction, actions, or repairs related to the disposal site by GLs for custody of long-term care of a residual radioactive material disposal site	2	1	2	2	4
40.28(c)(3)	Changes to LTSP by GLs for custody of long-term care of uranium or thorium product material disposal site	1	1	1	8	8
40.28(c)(5)	Significant construction, actions, or repairs related to the disposal site by GLs for custody of long-term care of uranium or thorium product material disposal site	1	1	1	2	2
40.31(I) (Burden included under 40.36)	Applicant's provision for liability insurance	0	0	0	0	0
40.35(f)	Submittal of emergency plan under 40.31 within 6 months for any change to the plan which decreases effectiveness of plan	0	1	0	80	0
40.36(a)&(b) DFPs	DFP for licensees with more than 100 mCi of source mateiral in readily dispersible form; DFP for licensees between 10 mCi and 100 mCi or source material in readily dispersible form	0	1	0	160	0
40.36(c)(1)&(2)	FA for decommissioning (before 7/27/1990); DFP & FA for decommissioning (after 7/27/1990)	4	1	4	4	16
40.36(c)(5)	Submittal of DFP if surveys under 20.1501(a) would prevent site from meeting 20.1402 (for licensees switching from cert. to DFP)	0	1	0	40	0
40.36(c)(5)	Licensees amending DFPs	0	1	0	16	0
40.36(d)	Updates to cost estimates for decommissioning	4	1	4	8	32
40.36(e) Certification	Acceptable methods for providing FA through cert or funding plan	0	1	0	40	0
40.41(f)	Notification of bankruptcy under Title 11	0	1	0	1	0
40.42(d)	60-day notification to being decommissioning site or 12-month notification of decommissioning plan	0	1	0	8	0
40.42(e)(2)	Reduction of FA	0	1	0	40	0
40.42(f)	Request to delay or postpone initiation of decommissioning process	0	1	0	40	0
40.42(g)(1)	Submittal of DFP if required by license condition or if decommissioning procedures not previously approved by NRC	0	1	0	1,000	0

Section	Description	NRC licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.42(g)(2)	Request for approval of an alternate schedule for submittal of a decommissioning plan	0	1	0	40	0
40.42(j)(2)	Submittal of report on results of radiation surveys of premises where activities were carried out	4	1	4	100	400
40.46(b)	Submittal of identity, technical and financial qualifications of the proposed transferee, and the information on financial assurance for decommissioning required by 10 CFR 40.36 or Appendix A	0	1	0	0.5	0
40.60(a)	4-hour notification of of events or conditions that threaten the health and safety of individuals using licensed material or that prevent the performance of surveys or other safety-related duties	0	1	0	1	0
40.60(b)	24-hour notification of unplanned contamination event; event where equipment is disabled or failed to function as designed; events requiring unplanned medical treatment of contaminated individual; unplanned fires or explosions of devices/containers/equipment containing licensed material	0	1	0	4	0
40.60(c)(2)	Event notification by telephone	0	1	0	1	0
License conditions	Demonstration groundwater protection standards are met	0	1	0	100	0
License condition	The Commission will determine when the licensee may terminate corrective action measures based on data from the groundwater monitoring program and other information that provide reasonable assurance that the groundwater protection standard will not be exceeded	1	1	1	20	20
	Data for baseline characterization and	0	1	0	500	0
License condition Subtotal	suitability of site	4		23.0		502.0
	Fue	l Cycle Program				
40.9(b)	Notification to the Commission of information with significant implication for public health and safety or common defense and security	0	1	0	1	0
40.14	Exemption request	1	5	5	1	5
40.23	DFP or Certification of FA for DFP under 40.36	0	1	0	2	0
40.31(j)(1)& (3) (viii)	Emergency plans & maximum intake evaluations for UF6 possession applications	1	1	1	160	160
40.35(f)	Submittal of emergency plan under 40.31 within 6 months for any change to the plan which decreases effectiveness of plan	1	1	0	80	0
40.36(a)&(b)	DFP for licensees with more than 100 mCi of source mateiral in readily dispersible form; DFP for licensees between 10 mCi and 100 mCi or source material in readily dispersible form	0	1	0	160	0
40.36(c)(1)&(2)	FA for decommissioning (before 7/27/1990); DFP & FA for decommissioning (after 7/27/1990)	0	1	0	4	0

Section	Description	NRC licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.36(c)(5)	Submittal of DFP if surveys under 20.1501(a) would prevent site from meeting 20.1402 (for licensees switching from cert. to DFP)	0	1	0		0
40.36(c)(5)	Licensees amending DFPs	0	1	0	16	0
40.36(d)	Updates to cost estimates for decommissioning	1	1	1	8	8
40.36(e)	Acceptable methods for providing FA through cert or funding plan	0		0		
40.41(f)	Notification of bankruptcy under Title 11	0	1	0	1	0
40.42(g)(2)	Request for approval of an alternate schedule for submittal of a decommissioning plan	0	1	0	40	0
40.42(j)(2)	Submittal of report on results of radiation surveys of premises where activities were carried out	0	1	0	100	0
40.46(b)	Submittal of identity, technical and financial qualifications of the proposed transferee, and the information on financial assurance for decommissioning required by 10 CFR 40.36 or Appendix A	2	1	2	0.5	1
40.60(a)	4-hour notification of of events or conditions that threaten the health and safety of individuals using licensed material or that prevent the performance of surveys or other safety-related duties	1	1	1	4	4
40.60(b)	24-hour notification of unplanned contamination event; event where equipment is disabled or failed to function as designed; events requiring unplanned medical treatment of contaminated individual; unplanned fires or explosions of devices/containers/equipment containing licensed material	1	6	6	4	24
40.60(c)(2)	Event notification by telephone	1	1	1	1	1
40.64(b)	Yearly statement of foreign origin source material inventory for licensee's possessing more than 1000 kg of uranium/thorium/combination of both	1	1	1	2	2
40.64(c)	Notifications of theft to NRC/HOO and follow-up notifications	1	1	1	2.5	2.5
40.65	Semiannual reports of quantities of radioactive materials released to unrestricted areas (for source material in uranium milling, UF6 production, uranium enrichment facility)	1	1	1	15	15
40.66 (Burden included in 40.23, above)	Notification of export of natural uranium other than ore/ore residue	0	1	0		0
Subtotal		2		20		222.5
40.9(b)	Notification to the Commission of information with significant implication for public health and safety or common defense and security	terials Program 1	1	1	1	1
40.13(a)	Voluntary notification of transfer of source material (less than 0.05% by weight) to persons exempt from licensing	2		2		
40.14 40.22(b)(4)	Exemption request Response to NRC written request by GLs	3		3		0 3

Section	Description	NRC licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.22(c)	Notification of significant contamination identified by GL when activities permanently ceased	0	1	0	20	0
40.23, 40.66, & 40.67	GL report of transient shipment; Advanced notifications of import/export of natural uranium;	0	1	0	1	0
40.25(d)(4)	30-day report of transfer of depleted uranium under 40.25	1	1	1	1	1
40.31(i) [included in 40.36]	Applicant's provision for liability insurance	0	1	0	1	0
40.35(b)	Labeling requirement for devices containing DU	0	1	0	0.5	0
40.35(e)	Transfer reports of industrial product & devices containing DU	0	1	0	0.75	0
40.35(f)	Submittal of emergency plan under 40.31 within 6 months for any change to the plan which decreases effectiveness of plan	0	1	0	80	0
40.36	Submittals of DFPs and FA	25		25		25
40.41(f)	Notification of bankruptcy under Title 11	1	1	1	1	1
40.42(d)	60-day notification to being decommissioning site or 12-month notification of decommissioning plan	1	1	1	8	8
40.42(e)	Reduction of FA	0	1	0	40	0
40.42(f)	Request to delay or postpone initiation of decommissioning process	0	1	0	40	0
40.42(g)(1)	Submittal of DFP if required by license condition or if decommissioning procedures not previously approved by NRC	0	3	0	1,000	0
40.42(g)(2)	Request for approval of an alternate schedule for submittal of a decommissioning plan	1	1	1	40	40
40.42(j)(2)	Submittal of report on results of radiation surveys of premises where activities were carried out	6	1	6	100	600
40.46(b)	Submittal of identity, technical and financial qualifications of the proposed transferee, and the information on financial assurance for decommissioning required by 10 CFR 40.36 or Appendix A	4	1	4	0.5	2
40.53(c)	Exempt distribution reports	13	1	13	0.5	6.5
40.55(d)(1)	Source material transfers to 40.22 GLs	0		0		
40.55(d)(2)	Source material transfers to 40.22 GLs	0	5	0	0.3	0
40.60(a)	4-hour notification of of events or conditions that threaten the health and safety of individuals using licensed material or that prevent the performance of surveys or other safety-related duties	2	1	2	4	8
40.60(b)	24-hour notification of unplanned contamination event; event where equipment is disabled or failed to function as designed; events requiring unplanned medical treatment of contaminated individual; unplanned fires or explosions of devices/containers/equipment containing licensed material	3	1	3	4	12
40.60(c)(2)	Submittal of telephone reports under 40.60(a) and 40.60(b)	2	1	2	1	2
40.64(b)	Yearly statement of foreign origin source material inventory for licensee's possessing more than 1000 kg of uranium/thorium/combination of both	0	1	0	2	0

Section	Description	NRC licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.64(c)	Notifications of theft to NRC/HOO and follow-up notifications	0	1	0	2.5	0
Subtotal		65		65		909.5
TOTAL		72		123.0		1929.5

Section	Description	AS licensee respondents	Respondent	Responses	Burden per Response	Total Annual Burden Hours
	Uranium Recove	ry Active Pro	gram			
40.9(b)	Notification to regulatory authority of information with significant implication for public health and safety or common defense and security	16	1	16	1	16
40.14	Exemption request	0	1	. 0	1	0
40.26(c)(2)	Notification of of any failure in a tailings or waste retention system	16	1	16	2	32
40.27(c)(3)	Changes to Long-Term Surveillance Plan (LTSP) by GLs for custody of long-term care of a residual radioactive material disposal site	0	1	0	8	0
40.27(c)(5)	Significant construction, actions, or repairs related to the disposal site by GLs for custody of long-term care of a residual radioactive material disposal site	0	1	0	2	0
40.28(c)(3)	Changes to LTSP by GLs for custody of long- term care of uranium or thorium product material disposal site	0	1	0	8	0
40.28(c)(5)	Significant construction, actions, or repairs related to the disposal site by GLs for custody of long-term care of uranium or thorium product material disposal site	0	1	0	2	0
40.41(f)	Notification of a voluntary or involuntary petition for bankruptcy	0	1	0	1	0
40.42(d)	Notification of ceasing activities due to expiration of license or not conducting activities for 24 months	2	1	2	8	16
40.42(f)	Request to delay or postpone initiation of decommissioning process	16	1	16	40	640
40.42(g)(2)	Request for approval of an alternate schedule for submittal of a decommissioning plan	2	1	. 2	100	200
40.42(j)(2)	Submittal of report on results of radiation surveys of premises where activities were carried out	0	1	0	100	0
40.46(b)	Submittal of identity, technical and financial qualifications of the proposed transferee, and the information on financial assurance for decommissioning required by 10 CFR 40.36 or Appendix A	0	1	0	0.5	0
40.60(a)	4-hour notification of of events or conditions that threaten the health and safety of individuals using licensed material or that prevent the performance of surveys or other safety-related duties	8	1	. 8	4	32
40.60(b)	24-hour notification of unplanned contamination event; event where equipment is disabled or failed to function as designed; events requiring unplanned medical treatment of contaminated individual; unplanned fires or explosions of devices/containers/equipment containing licensed material	8	1	. 8	4	32
40.60(c)(2)	Event notification by telephone	8				32

Section	Description	AS licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.65	Semiannual reports of quantities of radioactive materials released to unrestricted areas (for source material in uranium milling, UF6 production, uranium enrichment facility)	16	1	16	15	240
Appendix A and 40.31(h)	Submittal by mill operators of definitive programs meeting specified criteria in five major categories	0	1	0	100	0
Criterion 5A(3)	Exemption request for placing a liner to prevent migration of wastes	16	1	16	10	160
Criterion 5D	Submittal of proposed corrective action program and supporting rationale for exceeding ground water protection standards under Criterion 5b(1)	16	1	17	8	136
Criterion 5G [includes 40.26(d)]	Information in support of applicant's tailings disposal system	1	1	1	20	20
Criterion 6(4)	90-day report of verification of effectiveness of final radon barrier over uranium mill tailings in controlling radon emissions	1	1	1	5	5
Criterion 6A	Reclamation plan for impoundments containing uranium byproduct materials	1	1	1	20	20
Criterion 8	Notification of cessations, corrective actions, and restarts of yellowcake stack emission control equipment operation	16	1	16	10	160
Criterion 8A	Records of daily inspections of tailings or waste retention systems	16	1	16	5	80
Criterion 9(b)	Financial assurance arrangements for decontamination and decommissioning	16	1	16	20	320
Criterion 12	90-day report of results of annual inspections of all sites under licensee's jurisdiction	1	1	1	20	20
License conditions	Demonstration groundwater protection standards are met	0	1	0	100	0
License condition	The Commission will determine when the licensee may terminate corrective action measures based on data from the groundwater monitoring program and other information that provide reasonable assurance that the groundwater protection standard will not be exceeded	1	1	1	20	20
License condition	Data for baseline characterization and suitability of site	0	1	0	500	0
Subtotal		16		178		2181
	Uranium Recovery De	-	g Program	2.0		
40.9(b)	Notification to regulatory authority of information with significant implication for public health and safety or common defense and security	0	1	0	1	0
40.14	Exemption request	0	1	0	1	0
40.25(d)(4)	30-day report of transfer of depleted uranium under 40.25	0	1	0	0.5	0
40.28(c)(5)	Significant construction, actions, or repairs related to the disposal site by GLs for custody of long-term care of uranium or thorium product material disposal site	4	1	4	2	8

Section	Description	AS licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.35(f)	Submittal of emergency plan under 40.31 within 6 months for any change to the plan which decreases effectiveness of plan	0	1	0	80	0
40.36(a)&(b) DFPs, and 40.31(i)	DFP for licensees with more than 100 mCi of source mateiral in readily dispersible form; DFP for licensees between 10 mCi and 100 mCi or source material in readily dispersible form	2	1	2	160	320
40.36(c)(1)&(2), one time only	FA for decommissioning (before 7/27/1990); DFP & FA for decommissioning (after 7/27/1990)	3	1	3	4	12
40.36(c)(5) Licensees switching from cert. to DFP	Submittal of DFP if surveys under 20.1501(a) would prevent site from meeting 20.1402 (for licensees switching from cert. to DFP)	0	1	0	40	0
40.36(c)(5) Licensees amending DFPs	Licensees amending DFPs	2	1	2	16	32
40.36(d), once every three years	Updates to cost estimates for decommissioning	4	1	4	8	32
40.36(e) Certification	Acceptable methods for providing FA through cert or funding plan	2	1	2		80
40.41(f) 40.42(d)	Notification of bankruptcy under Title 11 60-day notification to being decommissioning site or 12-month notification of decommissioning plan	0	1	0		0
40.42(e)(2)	Reduction of FA	3	1	3	40	120
40.42(f)	Request to delay or postpone initiation of decommissioning process	0	1			0
40.42(g)(1)	Submittal of DFP if required by license condition or if decommissioning procedures not previously approved by NRC	0	1	0	1,000	0
40.42(g)(2)	Request for approval of an alternate schedule for submittal of a decommissioning plan	0	1	0	40	0
40.42(j)(2)	Submittal of report on results of radiation surveys of premises where activities were carried out	4	1	4	100	400
40.46(b)	Submittal of identity, technical and financial qualifications of the proposed transferee, and the information on financial assurance for decommissioning required by 10 CFR 40.36 or Appendix A	4	1	4	0.5	2
40.60(a)	4-hour notification of of events or conditions that threaten the health and safety of individuals using licensed material or that prevent the performance of surveys or other safety-related duties	0	1	0	4	0
40.60(b)	24-hour notification of unplanned contamination event; event where equipment is disabled or failed to function as designed; events requiring unplanned medical treatment of contaminated individual; unplanned fires or explosions of devices/containers/equipment containing licensed material	1	1	1	15	15

Section	Description	AS licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.60(c)(2)	Event notification by telephone	0			40	0
Subtotal	Matarial	19		29.0		1021.0
40.9(b)	Notification to regulatory authority of information with significant implication for public health and safety or common defense and security	s Program 7	1	7	1	7
40.13(a)	Voluntary notification of transfer of source material (less than 0.05% by weight) to persons exempt from licensing	13	1	13	100	1300
40.14	Exemption request	0			1	0
40.22(b)(4)	Response to NRC written request by GLs	26	1	26	1	26
40.22(c)	Notification of significant contamination identified by GL when activities permanently ceased	3	1	3	20	60
40.25(d)(4)	30-day report of transfer of depleted uranium under 40.25	7	1	7	0.5	3.5
40.35(b)	Labeling requirement for devices containing DU	2	1	2	0.5	1
40.35(e)	Transfer reports of industrial product & devices containing DU	2	1	2	0.75	1.5
40.35(f)	Submittal of emergency plan under 40.31 within 6 months for any change to the plan which decreases effectiveness of plan	0	1	0	80	0
40.36	Submittals of DFPs and FA	195	1	195	1	195
40.41(f)	Notification of bankruptcy under Title 11	7	1	7	1	7
40.42(d)	60-day notification to being decommissioning site or 12-month notification of decommissioning plan	7	1	7	8	56
40.42(e)(2)	Reduction of FA	0	1	0	40	0
40.42(f)	Request to delay or postpone initiation of decommissioning process	0	1	0	40	0
40.42(g)(1)	Submittal of DFP if required by license condition or if decommissioning procedures not previously approved by NRC	0	1	0	1,000	0
40.42(g)(2)	Request for approval of an alternate schedule for submittal of a decommissioning plan	7	1	7	40	280
40.42(j)(2)	Submittal of report on results of radiation surveys of premises where activities were carried out	39	1	39	100	3900
40.46(b)	Submittal of identity, technical and financial qualifications of the proposed transferee, and the information on financial assurance for decommissioning required by 10 CFR 40.36 or Appendix A	20	1	20	0.5	10
40.55(d)(1)	Source material transfers to 40.22 GLs	0	1	0		
40.55(d)(2)	Source material transfers to 40.22 GLs	0	5	0	0.3	0
40.60(a)	4-hour notification of of events or conditions that threaten the health and safety of individuals using licensed material or that prevent the performance of surveys or other safety-related duties	13	1	13	4	52

Section	Description	AS licensee respondents	Responses per Respondent	Responses	Burden per Response	Total Annual Burden Hours
40.60(b)	24-hour notification of unplanned contamination event; event where equipment is disabled or failed to function as designed; events requiring unplanned medical treatment of contaminated individual; unplanned fires or explosions of devices/containers/equipment containing licensed material		3	60	4	240
40.60(c)(2)	Submittal of telephone reports under 40.60(a) and 40.60(b)	13	1	13	1	13
Subtotal		475		421		6152
TOTAL		510		628.0		9354.0

Section	Description	NRC Licensee recordkeepers	Hours per Recordkeeper	Total Annual Burden Hours
	Uranium Active Recovery	y Program		
40.26(c)(2)	Daily tailings or waste retention system inspections (3 years after inspection is conducted)	1	4.3	4.3
40.51(c)&(d)	(Until license termination)	1	4.5	4.5
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	1	5.1	5.1
40.61(d)	Forwarding records of unsealed source material to Regional Office prior to license termination	1	3.2	3.2
40.61(e)	Forwarding records of unsealed source material to new licensee prior to license transfer	1	2	2
40.61(f)	Forwarding FA records to Regional Office prior to license termination	1	6.4	6.4
Appendix A	Records relating to operation of uranium mills & disposition of tailings or wastes (until license termination)	1	101	101
Subtotal		1		126.5
	Uranium Recovery Decommiss	ioning Program		
40.36(f)	Records maintained until site released for unrestricted use	4	12.2	48.8
40.51(c)&(d)	(Until license termination)	4	4.5	18
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	4	5.1	20.4
40.61(d)	Forwarding records of unsealed source material to Regional Office prior to license termination	4	3.2	12.8
40.61(e)	Forwarding records of unsealed source material to new licensee prior to license transfer	4	2	8
40.61(f)	Forwarding FA records to Regional Office prior to license termination	4	6.4	25.6
Subtotal		4		133.6
	Fuel Cycle Progra			,
40.51(c)&(d)	Verify recipient authorized before transferring source material	1	4.5	4.5
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	1	5.1	5.1
40.61(d)	Forwarding records of unsealed source material to Regional Office prior to license termination	1	3.2	3.2
40.61(e)	Forwarding records of unsealed source material to new licensee prior to license transfer	1	2	2
40.61(f)	Forwarding FA records to Regional Office prior to license termination	1	6.4	6.4
Subtotal		2		21.2
40.05(-)(6)	Materials Progra			
40.35(e)(3)	3 year retention for reports under 40.35(e)	0	0.3	0
40.51(c)&(d) 40.53(c)(6)	(Until license termination) 1 year retention for exempt distribution reports	66 13		99 52
+0.53(0)(0)	1± year retention for exempt distribution reports	13	4	52

Section	Description	NRC Licensee recordkeepers	Hours per Recordkeeper	Total Annual Burden Hours
40.55(e)	Record retained for 1 year after event included in report to NRC or Agreement State	0	4	0
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	66	1	66
40.61(d)	Forwarding records of unsealed source material to Regional Office prior to license termination	0	3.2	0
40.61(e)	Forwarding records of unsealed source material to new licensee prior to license transfer	0	2	0
40.61(f)	Forwarding FA records to Regional Office prior to license termination	66	1.5	99
Subtotal		66		316
TOTAL		73		597.3

Section	Description	AS Licensee recordkeepers	Hours per Recordkeeper	Total Annual Burden Hours	
	Uranium Active Recover	y Program			
40.26(c)(2)	Daily tailings or waste retention system inspections (3 years after inspection is conducted)	16	4.3	68.8	
40.51(c)&(d)	(Until license termination)	16	4.5	72.0	
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	16	5.1	81.6	
40.61(d)	Forwarding records of unsealed source material to Regional Office prior to license termination	16	3.2	51.2	
40.61(e)	Forwarding records of unsealed source material to new licensee prior to license transfer	16	2	32.0	
40.61(f)	Forwarding FA records to Regional Office prior to license termination	16	6.4	102.4	
Appendix A	Records relating to operation of uranium mills & disposition of tailings or wastes (until license termination)	16	101	1717.0	
Subtotal		16		2125.0	
	Uranium Recovery Decommis	sioning Prograr	n		
40.36(f)	Records maintained until site released for unrestricted use	14	12.3	172.2	
40.51(c)&(d)	(Until license termination)	14	4.5	63	
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	14	5.1	71.4	
40.61(d)	Forwarding records of unsealed source material to Regional Office prior to license termination	14	3.2	44.8	
40.61(e)	Forwarding records of unsealed source material to new licensee prior to license transfer	14	2	28	
40.61(f)	Forwarding FA records to Regional Office prior to license termination	14	6.4	89.6	
Subtotal		14		469	
40.05(.)(6)	Materials Progra				
40.35(e)(3)	3 year retention for reports under 40.35(e) (Until license termination)	0 482	0.3 1.5	0 723	
40.51(c)&(d) 40.55 (e)	Record retained for 1 year after event included in report to NRC or Agreement State	1	4	4	

Section	Description	AS Licensee recordkeepers	Hours per Recordkeeper	Total Annual Burden Hours
40.61(a)&(b)	Receipt of material (as long as material possessed & 3 yrs following transfer); Transfer of material (until license termination); Disposal of material (until license termination); If no retention period specified, until license termination	482	1	482
	Forwarding records of unsealed source material to Regional Office prior to license termination	0	3.2	0
1 ' '	Forwarding records of unsealed source material to new licensee prior to license transfer	0	2	0
40.61(f)	Forwarding FA records to Regional Office prior to license termination	482	1.5	723
Subtotal		482		1932
TOTAL		512		4526.0

Section	Description	Number of Respondents	Responses per Respondent	Responses	Burden per response	Total Annual Burden Hours	
Materials Program							
40.53(b)	Labeling requirements and instructions to user	5	1	5	3	15	
40.55(a)	Labeling requirements "radioactive material"	0	1	0	3	0	
40.55(c)	Copy of 40.22 & 40.51 to GLs prior to source material transfer	0	1	0	3	0	
Total		5		5		15	

Section	Description	Number of Respondents	Responses per Respondent	Responses	Burden per response	Total Annual Burden Hours		
	Materials Program							
	Copy of 40.22 & 40.51 to GLs prior to source material transfer	0	1	0	3	0		
Total		0		0		0		

	Total Burden (NRC Licensees)						
	Burden	Responses	Cost @\$288				
Reporting	1,929.5	123.0	\$555,696				
Recordkeeping	597.3	73.0	\$172,022				
Third party disclosure	15.0	5.0	\$4,320				
Total	2,541.8	201.0	\$732,038				

	Total Burden	Total Burden (Agreement State Licensees)					
	Burden	Responses	Cost @\$288				
Reporting	9,354.0	628.0	\$2,693,952				
Recordkeeping	4,526.0	512.0	\$1,303,488				
Third party disclosure	0.0	0.0	\$0				
Total	13,880.0	1,140.0	\$3,997,440				

	Total Burden (All Licensees)					
	Burden Responses Cost @\$28					
Reporting	11,284	751	\$3,249,792			
Recordkeeping	5,123	585	\$1,475,424			
Third party disclosure	15	5	\$4,320			
Total	16,422	1,341	\$4,729,536			

	Burden		Cost @\$288/hr
Uranium recovery (active)		4,728	\$1,361,664
Uranium recovery (decommisioning)		2,126	\$612,288
Fuel cycle		244	\$70,272
Materials		9,325	\$2,685,600
Total		16,423	\$4,729,824

Respondents	NRC licensees	AS licensees	Total
Uranium recovery (Active)	1	16	17
Uranium recovery decommissioning	4	19	23
Fuel cycle	2	0	2
Materials	65	475	540
Total	72	510	582

	CHANGE IN BURDEN AND RESPONSES - NRC LICENSEES						
	IN ROCIS		CURRENT REQUEST		CHANGE		
	Burden Responses E		Burden	Responses	Burden	Responses	
Reporting	1,979.5	115.0	1,929.5	123.0	-50.0	8.0	
Recordkeeping	949.9	89.0	597.3	73.0	-352.6	-16.0	
Third party disclosure	18.0	6.0	15.0	5.0	-3.0	-1.0	
Total	2,947.4	210.0	2,541.8	201.0	-405.6	-9.0	

	CHANGE IN BURDEN AND RESPONSES - AGREEMENT STATE LICENSEES							
	IN ROCIS		CURRENT REQUEST		CHANGE			
	Burden Responses		Burden	Responses	Burden	Responses		
Reporting	9,386.0	635.0	9,354.0	628.0	-32.0	-7.0		
Recordkeeping	4,594.5	545.0	4,526.0	512.0	-68.5	-33.0		
Third party disclosure	0.0	0.0	0.0	0.0	0.0	0.0		
Total	13,980.5	1,180.0	13,880.0	1,140.0	-100.5	-40.0		

	CHANGE IN BURDEN AND RESPONSES - ALL LICENSEES								
	IN R	OCIS	CURRENT REQUEST		CHANGE				
	Burden	Responses	Burden	Responses	Burden	Responses			
Reporting	11,366.0	750.0	11,284.0	751.0	-82.0	1.0			
Recordkeeping	5,544.0	634.0	5,123.0	585.0	-421.0	-49.0			
Third party disclosure	18.0	6.0	15.0	6.0	-3.0	0.0			
Total	16,928.0	1,390.0	16,422.0	1,342.0	-506.0	-48.0			

RESPONDENTS								
NRC licensees	AS licensees	NRC licensees	AS licensees	NRC licensees	AS licensees			
89.0	545.0	73.0	513.0	-16.0	-32.0			